A-~~E000+ 0 100 0000 00050000 TERMINATION SIGNAL
o A==—EQ0L AT 17000 0000 0016001 """

» >

A==—EQ02 A 2 000 0000 0016002 2
Aw==E004 A 4 000 0000 0016004 4
TTTAS==EQ05 A 5 606 0000 001s5005 s
A==—E006 A 6 000 0000 001,5006 6
TTUAS==EQOT T A 7T UGG 0UG0 T 00154007 T A
A~==E008 A 8 C00 0000 UO1+6010 8
AR =009 AT 0 00 0000 015011 g
A~==E010 A 10 000 G000 00054016 -
o Aem=E011T T A T 1T 0000000000540 6 T e
A=m=E012 A 12 060 0000 0004016
B ('] - SR A T3 000 0000 GOUF40TE "~~~ "~ T TT oo m oo
A-—=E014 A 14 000 0000 00054016 SPACE
AS=EEQTS ATT57 00000007 000740716 -
A===E016 A 16 000 0000 0006020 SEMICOLON
TASS=EQITTTTTCA TITOUL OV TTI00ZS5UZT T - S
A~==£018 A 18 002 V 2 0025022 LCB
U RRE=EU19TTTTTTA I9U0I TV T 3700254073 T o ottt
A===E020 A 20 004 V & 00295024 LLCD
.-mu&-n;:_;ug Ovz.l.:._...._.._4...._...A._...‘2..1~..,-Q a 5._.,.v-.um 5....4032.;..“{) 2 57\\m A ECE“..U‘.‘.H PRI
Am==E022 A 22 006 V & 0024026 LCF
TTTTASSWEQRI TR 237 U0TV 700253087 o
A=—m=E024 A 24 010 V 8 00255030 LCH
S A ES=EQ2ST A 25 UYL~V 9 00254031 o (ol
A~m=E026 A 26 000 0000 0004016
;‘_....__An._..“EO2?‘.__,_..4.._._.-_A.._,2.7m.,0‘QG.M.OUQ{),n>:‘J00.§,3033v-.>. G e .A..... L R L e B AL P T
A=m=E028 A 28 000 0000 000+4016
"o e G 2T A 29" TG00~ D00~ QOO FGOTE ~~ ==~ """t T oo oeoooooo oo
- A==—=E030 A 30 0CO 0000 000s3036 EJECT+CR+EOM
R SO kD Ry A-31- 006~ 0000 50052037~~~ EJECTHCR ~~ -~ - " - Tommmmmoomooooooeeooo
A-—~=E032 A 32 000 = 33 240256040 MULTIPLY DOT
AR 33— 0TZ V=10~ 00235041 'CJ e e e
o AmmmEC34 A_34 013 V 11 0025042 _____ LR
AZzzEG3e A 38 818V 13 88314042 téh
Amm=E037 A 37 016 V 14 0024045 LCN
A-—-E038 A 38 017 Vv 15 002,a046 LCO
A=—=E039 A 39 020 V 16 002»3047 Lcp
A=—=E040 A 40 021 V 17 00255050 L
TTTTAR==EQAY TTTTTAAELTUZ2TV LB U02:40517 T LER
AmmmE 042 A 42 100 0000 0004052 CR+EOM+TERMINAL SIGNAL IN SIGN
AR QL E TS K63 G02" 0000 00433053~~~ e
A=—mEOLL A 44 000 = 32 1404054 -

TTTAEESEQLSTT AT ST 00070000 000334167 T CONDITION T FLAGTUCHART OGS TCANYT GET TINY U
. A-~~EO¢6‘ A 1+6 DO"} 3000 00034616

A=~=E048 A 48 000 0000 GO1»5060 ZERO

CTARRSEOAY T AT 0007 E 34T 24054U6T T T TTTTTTTTTTTTTmTmmesooooooooooosooooooooooooooos
A=-==£050 A 50 023 V 19 002+4062 LCS
A===EQST A51IT02647V 20700253063 LCT
A===EQ52 A 52 025 V 21 002,4064 LCu

TTUARREEQEF T A™53 026"V 22 00233065 " R o2
A==—E054 A 54 027 V 23 002,3066 Lcw

TTTRESSECSE TTTTT A TS5 T30V 247002320677 o Sl
A=-—-E056 A 56 031 V 25 002,407C LCy

e 0 8 7 A T 0 32V 3 6009V FO T Lz
A=—~E058 A 58 0CO 000G 00054016




Y

S AS=SEQ5Y A 5970007 0000 0005 2073~ ST 577 =mmmmmmo e m oo

A-==E060 A 6C 000 = 31 1403074 B

Am—=EQ6L - A 61000 0000 00052075 -~~~ TAR === e
A-==E062 A 62 Q00 0000 ©0024016

— ReemEQ BB A 63000 "0000 00024016
A~—=E064 A 64 000 0000 0GDL4016

" A===E065 -~ A 65 0600000 00055101 - PRIME -~~~ e
Am—=E066 A 66 000 0000 0005102 QUOTE MARKS

TTA===EB6T T A T6770007 0000 00054016 " STRIKE™OQUT "CHARACTER =" SPACE ~~ "~ "~~~
A-=-=EQ68 A 68 000 0000 00045104 3

-—uum.q«—‘_hEOsgmw._...A69_.003 0000 004,4105 ISR LESS THAFQ GR B Y S A e N i s i .V..._. [P
AmwmBEOTO A 70 006 0000 CO04,4106 GREATER THAN CR =

A= EOTL AT 0010000 00493107 T LESS THAN T T T s e e
A-==E0Q72 A 72 004 0000 00445110 GREATER THAN

T AemeEQT73 A 737000 ATT2-02054110 """~ ittt
Am==E(T74 A 74 000 0000 0004016

e | Ry “Eo?ﬁm“"‘”m“w‘mA‘_.‘75”‘360”“‘0000“”3‘00 ',"40 16 e B T e T

‘ A===EQT6 A 76 000 Q000 0004016 .

TmTAE=EQTT T AT 000 0000 000 F&0 6~~~ "7 7T T T e oo
A~==E0T8 ‘A T8 000 0000 0CO»4016

AR EOTY T AT OT0 0000 000540 6 ™~ 77T T T T T T oo oo
A===E080 A 80 000 0CO0 00095120 COLON
A===E0BY AT81IT0417VY 27700254121 A B - -
Am—=EG82 A 82 042 v 28 002»4122 B

TTTTASSSEQB3 T K83 Ug43"V 29 00253123 """ €T TTTTTmm T mmmmmmmmomooo oo
Amm=E084 A 84 044 V 30 00294124 o

o A===E085 T A BSOSV FL 00293125 " e
A-e=E086 A 86 046 V 32 002.3126 F

TTAE==E08T ATBTTUAT V3300292127 G~

. A---=E088 A 88 050 V 34 002+4130 H

TTTAE==EQRYT T AE9UST V350025313
AreweaEQOQ A 90 000 0000 0004016 ,

BRI Sotind 11" L G100 AYZ3 01082133 7 RIGHT BRACKET ~~ -~ " -~ - - mmmmmmmm oo m oo e
AwmmE092 A 92 000 0000 000,4016
A===ET93 ATI3ITOU0T 000000074016
Awe=E094 A 94 000 0000 0004016 ,

e ARRSEGOE - K95~ 0060000 00D40T6 Sttt
A~—=EQGG A 96 000 A 96 03045140 ABS VAL BAR

R =1 A Sl K97 UF2 -V 3670025414 8
A--=EQ98 A 98 053 V 37 00294142 K

TA===E099 A—99T05F~V38700273143 | P
Am==E1G0 Al100 055 Vv 39 002+4144 M

B e =332 wy ATO1" 056~V 40" 00253145~~~ ittt
Ae—-£102 Al02 057 V 41 002+3146 O

TTTTASS=ELOT T AIO3 U0~V 4200232147 - e

‘ A===E104 AlO4 061 V 43 02,4150 Q

_.__A_;_”E,Ic}s.___.__p‘lgpmbéz v 44 302’3151 &.......,.,.“.A,._R S—— st -~ 8 L AT AL R A 1 L AR R 1
A===E106 Al106 000G 0000 004016

TTTTAERSELOT T AYOT7 005 000000452153~~~ O
A=--=E108 Al08 000 0000 0Q0s3154 UNDERSCORE

"“‘A~~~EIO9""‘“*ﬁI89 VOO~ g000-000+2433 PERTOD WITH FUAG (CHAR 155 CANYT GET™ INY""“
A-==E£110 A110 OCO 0000 00040186

A==sETTT ATI1I000~0000- 00054016 - ‘

Aw==fE112 A112 GO0 A 73 0104160 )

0 5 Hiily ATY3 0000000 00053161~ "QUESTION MARK ~~~—--~-====--------oomooooooooooooo
A-~=E114 Alla 063 V 45 00293162 5

B it 0 0 B iy % 1 B € 7 VA B o1 ¢ 7. < 3 e e

. A-=-£116 A116 065 V 47 002+3164 U

TTTASSSETITTTTTTALY T 066 VA B 0022165 B A - - R

A--—£118 Al118 067 V #9 0022 166 W



T RRRSEIIYTTC ATTO- 0T0-V- 50°00Z5 1167~ G

A===E120 A120 071 V 51 002,3170 Y

CTTAR==ET21 7T TTATZIT07ZV 5270025217 0 /8
A===E122 Al22 000 0000 0004016

A= T 23 AT2 3000 A9 0209 11T T TLEF T BRACKET T
Aw~=E124 Al24 GCO = 35 44052174 #

S S 72 it AT25 0000000 000+1175 - TAB -~ ----- B e
A-—=£126 A126 00O QUOC 0004016

T AR==EI2T T AT27T 000 0000 00040 6 T T T T T T T T T T T T T o s sooossos e
A~—=F128 A128 000 G000 0000037 EJECT

A= E 129 AT 29 00000000003 0056 " CARR IAGE - RETURN
A-==F130 A130 000 0000 000,0155 PSEUDO~PERIOD (CAN'T BE GENERATED)

T Ee==E000+ T E 07020 % 0T 0L0 ST 0T T OUT OF TSPACE T T T T T T T T e
Emm=EQ01 E 1 020% 101035 O OVERLFOW

B emwEG02 £ 2 020 % 2 0105 "0 T UNDEFINED VALUE ~~ "~ " T omsmmmoemsmmemse
Em==F003 E 3020 % 30103 0 DIVISION BY ZERO

—Ew==EQU4T R 0207 % TG TOT0 T S T 0T T TLLEGAL T INDEX -

| E===E005 E 5020 % 5010 % 0 NUMERAL MORE THAN NINE DIGITS

e Ese=EQOET T B~ 6020 % 6 010 83 0 " T MALFORMED ~~ T TTToTo oo osmmsssmseeesoss e
E~-=E007 € 7 020% 7010 3% O ILLEGAL LIMIT

R S5 o7 it £~ 8 020 % "8 010 5 O T TOPEN TASK DU T TTTTTTTTToToomooooooooooooooe
Emm=EQ09 E 9 020 % 90103 0O ILLEGAL INDIRECT
E===E£Q10 E=10-020-%~10"010- 0~ ILLEGAL DIRECT
Em-==EC11 E 11 020 % 11 010 S © ILLEGAL DECK NUMBER

T EeewEQ12 T E 12020 % 12 0103 "¢ """ TLLEGAL FORM NUMBER ~~ "~~~ " """ =---mmmoooooooe
Em—=£013 £ 13 020 % 13 010 § O ILLEGAL STEP NUMBER

i e vl T i T4 020 % T4 010" "0~ " TLLEGAL ARG FOR SQRT ~~~~ "~~~ """~~~
E===E015 E 15 020 # 15 010 % O CONDITIONAL DIRECT

e Es e T e TS0 20 % L6 0 T0 TS T 0T N0 SUCH S TEP e ————

. E~-=E£017 E 17 G20 % 17 010 3 O MO SUCH PART

T EResf Q18 E-I8 020 % T8 0%G -8 0~~~ TLLEGAL PART NUMBER ~~ """~~~ " - ===

| Ee==fED19 E 19 020 % 19 0108 0 MO SUCH FORM

TTTES==EQR0T T £20° 020 % 20 0T0 3 0 " " "ILLEGAL ARG FOR LOG ~— """~~~ oo
Emm=f021 E 21 G20 # 21 010 5 O NEGATIVE # NON INTEGER
E===E£022 E 227020 % 22 0105 0 TTLLEGAL ARG FORSINOR™COS
Eww=E023 £ 23 020 # 23 010 $ O ZERD #* NEGATIVE

Mt L S € v 4 Mt EVE:TURE i v ' el el Wittt ittt el
Ewm=E110 020 8 O 050 P 12

B i ied S5 4 i 020" Q797002 % 4L "I ST TTTTTTTTTTT ST mmmmmmm oo
E~==E130 020 5 0 010 = 64

‘_Eu;Ellut‘:G _%.,.‘l‘ Q éz'“AU o AL MO e P ) G0 A L 81 S BE N NORE 11 | O MBS . PR il
Ew==i150 10 # 44

R E S €Y it 40" 052345T1v2225305T - YERROR TN CINE ABOVE —~ 4 "~~~ -=-----=--==—=———e e
E~=~=E170 007s031191207043

B CE oo o 81 Ml RSB E AN T TN R 40 F iy 4975 St ittt ittt
E-—=E190 011+06461552122520
E===E200 00750164500030000
Ew==E210 # 41 020 % 0 010 = 64

TTTTERRSE220 T ¥ g2 L e
Em—=E230 010 * 43

TeEsReSE240T T w42 05234512225 3051 " YERROR TN STER¥ ~~" """ 77 ==--- ==momoooosmeseo oo

" Eem=E£250 007,03119120,7062
E===E280 O3T%6Z513160%7200
Ewm=f270 ¥ 43 020 P 16 056 P 3

CTTTER=SE2BY T T20°% 0T CT0 = 637" "COPY "STEP “NUMBER™ r*mr« RT0O Se " Tmmomo
Emmmf290 020 A 80 050 P 11

S o £ ittt T20 5 "0 0T0 = 667 T T TADD COLON T T T
Em==E310 0208 0 010 = 62 SPACE
E===E£320 020750010 =62 SPACE

Em==E£330 * 44 020 3 0 010 = 64



T Ese=EA40 L3 il S i
Em—=E350 020 3 0 010 = 25 SEND ERROR MSG

cmm BB 360- - #®46-020-Q-2-00L - %47 --- - -CLEAN -UP- OPERAND "STACK "~~~ ——===-——-—-
Em==E370 020 5 O 010 = 13 ;
£=-=-=£390 % 47 020 Q@ 4 001 % 48 CLFAN up OPERATDR STACK

BB GO 020-%5--0- St
E~—~E410 010 * 47

BB 420 *“QBLQQG‘Q“”é"ﬁoli*"49 ““““““ CLEAN"UP AUXIUTARY STACK ~— -~~~ """~ -——=~"——————---
Em—=E430 020 8 O 010 = 17

mﬁ?;-'“E.Z‘r#G_-m.u...__.-....-_‘_.__........L...L.. A_..‘.‘OIOAW.*.«_..Q 8'-,‘.“-.“..4..-. W e e W e . e a G L ek e el s e m ane IR T R WA T s S P A L ke A e e e
Em—=E450 * 49 020 5 0 010 = 55 SWITCH N

i et 7 3 -1 020" 0 010 = 53— -KICK QYT """~~~ ST ST ST T T T TT T TS oo T T
Emem B 470 010 X 1

T Ew==E500 W50 054445 s 4352026777 I\ESUFFICIENT STORAGE "SPACEwY ~~ 7"~~~ "7""777""-
Ewew=B501 0130310461 944625

TTEESSESGY 022%4530¥3453%1063 "
E===E503 02330510421 93425

TTTTESS=ESQY T T 007306213 1650423 7 T T T T T T T T T T T T T T T T T T T T T T e S S e e
E~==E£505 012:43319250,0000

TTERRES1UTTT T W 517 063306505522 54426 7" FOVERFLOWS T ™™ "77"7"77 - 7mmmommooooomoeoooo o
E~--=E511 02144619541 +5452
E===£512 IS0 000030050000
E=-~—E520 # 52 Q72+0450850) 92426 YUMDEFINED VALUE.?

TTTEssSES21 T RO Ry A s A I £
Emm=E522 032,4211+063,2025

TR seE G2 UL S s %S 243000 0000~~~ - T T T T T T T T T T oo e e
Ew==£530 ¥ 53 0502463194581 92444 YATTEMPTING DIVISION BY ZEROQ.?

T B 5023463 062252427
Ewmw532 007202460562392431

R i - S it REJC2 S S V23 A A A4 -2 s
E~**5534 0110700343 44425

"""""" S 58 5 3 R ¢ - 12 T A Ry a1 B
Ew-*hﬁéo # 54 0549446506501 92467 tINDEX VALUE MUST 8F INTEGER ARND
E==£5%Y GOT30650764225 1464 O=TNDEX=99%7
Ew==£542 012+41612103,2062

B e ind S - e R0 Y N YO R T K el
Ewm=fb44 Ul496451946192427

Bt ot a1 R R X g N N T o 0T
Em==E546 012+01619404424631

—EwewE547 C2254280%v5235%3505 -
Ewmwe=548 004+41105662+5200

it it U3 1Y it F 55 U629464 19105245 "~ T INUMERALS MUST BE LESS THAN TEN-—""""~——~—---
Ew—==E551 ‘ 01094431 944027044 BIGITo LONGo ¢

TrEmeRERG 2 oo 03230621 946037022~ " T T T T T T oo oo oo osoooooooooooeo oo
Ewm=£553 01241619061 82462

—Ewe=ES5g 031501619461 v4021
Ew==E555 022+4161946192645

TrEse=ESEE V0T 3024062 Y3343~~~ T T T T T T
Eme==E557 031946200342 01446

i e g L T 0223420966235 200  —~— - - T T e
Em—=£560 # 56 662J0211’061?3046 YMALFORMED.

—— == SE] 02654440952152033 — e s
Emm=E562 025+2000+000,0000 : :

TrEsesE ST HETUETIEITYIs 10 54463 - FLIMIT MUST BE INTEGER AND -~~~ --—--—===————
Em—eE571 U07e0441+50351063 /LIMIT/ 10%#9 41

B N 0073022085205 703~~~ =577 mmmo oo
Ew=-=E573 022446309521 23425
e o B K Gty L G s 2 2y Dy g et o i
Ee—=-£575 007:1401:06194444



B e o UT43463330049340) ~~ """ 77T T T oo TTTTTmmmomommommoes

Eme=EST77 030917409221 +5452

T Ee=~ES78 T00300002000 50000 " 77777 7T T T T T T T T T T T T S T S S S S m ST S S ST m e e e
E--=~E580 ¥ 58 063344309521 50462 'PLEASE 'CANCEL‘ OR '60' BEFORE

T RSB 012942629049 1421 T ANOTHER Y DO T
E-==E582 (022+4230-52251502

o Bee—E583 - e L g L B R
E-—~E584 ~01334462+040,7022 :

i o F O R B By R e
E-~~E586 007+02115122,3063
E~-—E588 041402419144,51033

mmEem—E589- - 02552000000+ 0000 -~~~ "7 "o o oo e e e e TTTTTTTTTTTT
E-==E590 # 59 071+4300+623»1016 YTHIS COMMAND MUST NOT BE

B -S> 8 B 01T 5446191025202 "~ " "GIVEN ITNDIRECTLYs ¥~~~ """--~---------------—
fe-=-E592 022:4240534242064

——Em 593 0315063033425 2446
E--—E594 031941605441 92416

ST EemeE 595 T Ll i L . M
Em=~EBG6 QU790311+121,2031

il e 1 i s R o B ettt
E=~~E598 034:03315250,0000 '

—EwwnE600 #=E0—O0T1v4300962371016 YTHISTCOMMANG ™ MUSTNOT BE
E===EG01L U11+44619102,2021 GIVEN DIRECTLYa!

e EGHR 2235424053425 206G~~~
Em~=E603 031:0630934252446

= EemmEGOH - OB st h60 5 44 9 24 6~ 7T T T
E~-~L603 013943119521 22445
&~~~E037 011+46312063+4033

BB B 25320005000 F0000 ~— === T T o T T T
E---E£610Q # 61 U5220250:4621016 'DFCK NUMBER MUoT BE INTEGER AND

IR “Satmined 1 -5 & St V223464710 51025 "~ o1 oo e 0 L
Em—=E512 024+41619103,2062
E===E613 O3T34I80V4GI 25416
Ew—=E614 Ul494451248192427

BRIt - 5 5. R VT2 4ST0s 3430445 "~~~ T TTTT T T T TT T T o T oo oo
E=--=£616 012+01861+4043424

B “auind - -5 i Attt R Y /7.0 B & X 47 /Y5 5C T/ 3t s
E-——E618 030917400221 55452
Ee==E619 “IGOT00003 0000000 ‘
Ewe=f620 * 62 053,0461+22252016 *FORM NUMBER MUST BE INTEGER AND

B ol - it V22546413105 1U25 "7 O=FORM=YO#Gy ¥ """~~~ """ "TTTTooooooooooooooooo
Ew—=E622 024+4161910352062

i ey 5 Ml B 73 N oL o B -
Emm=E624 014944519461 92427
E===E£825 012745105341 50645
Em—=£626 012+0161+40443426

TTTERRSEGRT T L 74c B - A0 07 B £ 3
E-~=E628 030917409221 45452 ,

TTEssRsEG29 T T FO0300003000s000G0 ~ "7 7T T T T T T T T T T T T T T s e s e
Em-w=E630 # 63 071+06309522+3416 TSTEP NUMBER MUST SATISFY 1-STEP=10%949
E===E631T 02294641510151025
Ew==f632 02494161910352062

TTTEs==E$33 T RO X3 X B L L4 LY - Rt
Ew==E634 014946209543+4016

TTTESSSE63S T T OG03505 44351425~~~ T T T T T TTTTTTTTTTTTTTTTTT oo e
Em==f636 023+5070s02350174
E===E637 004 433125050000 S e
Ew—=g640 #* 64 050046319461 92444 YATTEMPTING SQRT OF A NEGATIVE NUMBERe?



TTEe—=E641 T T 0235463056225 2427

E~—-E642 - 007,0621»202 4463
- BemmE6 43 - 0075046055405 7021
Ew~E64b L 007+0450952153421

BB 645 e 031543119521 52416

EwmmE646 02254641+101351025

- EmmmE64T- oo 024§ 433 3 25O FOBO0 ~ -~~~ === oo
Ew=wiE680 % 65 052+0311922192423 PDIRECT COMMANDS MUST BE UNCONDITIONALW!

B8 0334160346253 04G -~~~ """ """ T- oo
E~e==E652 022s02119121,2062

——Eme 653 Q0T y 04419 50T 51063
E-—=Eb54 0C7202206520,7064

i Tt -7 B3 R R L R
Ew—=£656 0146+4630262293045

o EmmmEG 5T o OL0 344305662 55200 ™~ 77T oo
Ee==E660 ® 66 071463005520, 7062 PTHE STEP CALLED FOR DOESNIT EXISTs!

S e 03142515 16057023
Ee==[F662 010944312061 92424

B S A 1%, R R B 4 2 S Ay < i ¢ e
Em=-E664 _ 012+0460+523,1045

e Eswef §65 R R e Lo R o e E < < A ittt
Emm——E 566 Glastb2le461 95452
- E&&7 10050000000y 0000
Emem=E6T0 # 67 071+43009520:7047 tTHE PART CALLED FOR DOESN'T EXISTa?

St SOl o & Ittt L0t T 346087023~ m -
Em—=E6T2 4 01044313061 92424

= L IR DOT 5026 s L4 F 46 ===~~~ ===
EmwmE6TH 012s0460s523,1045

——EweeE6T5 0405463093419 2467 = =
Fem=E6T6 0144462194561 45452

BB T - —-=- == 160300001000 5 0TO0 -~ -- - o EREREEEETEEES
E===E&80 * 68 06394211922321416 TPART MUMBER MUST BE INTEGER AND

R L 02234661 +10T 51025~ = PART=Y 0% Gyrt — =~ === ===
EmmmE682 02456161510392062
Eem=fER3 O3S GL60vHEI 5246186
Em==E684 Ola e85 0061 92427

S EeeEG 5 GT 29 5 OB BT 5 QoG ~ ==~ oo
E~~-[£686 01201612404 93447

"o BB 6T G B
E--—E688 030517409221+5452

——Ewm=E689 1005000G 50000300 R i
Eme=E690 # 69 Q71+4300»52047026 tTHE FORM CALLED FOR DOESNtT EXISTet

BB OG- T 023505 1100 7023 -
Emm=mf 662 010e443) 06192624

o EweeE§ QYoo Q0T 9026 LT 3 4L~~~ ==
Ewm=f 694 012-04609523,1045
Em—={696 01446212461 95452

i = o < L F009 0000000y 080C0 -
Em=eET700 ¥ 70 0350046319461 92544% PATTEMPTING LOG OF A NOMNPOSITIVE

B s SRR 023346301622 92427~~~ T
E—w==E702 00704312141 33416

T Eewa 703 023902603415 0616
EweamE 704 02244619122+3446

N e (- S EEEEEE R e T e
Ew==E706 "01l294161s1232044

B EFGT o QL3025 22T 5452~~~
Em~=E708 100500003 00200060 »
EwmmET 10 = T1-0503463 19461324 64—t ATTEMPTING-NEGATIVE-BASE~TO-
Eem-f711 ' 02394630962252427 "NONINTEGER POVWERe !




I Sl S & - UUTs0450952 9342y~~~ """ oo mmmmmmeon T ;‘“7"”""“"f'"”""";; """"

E-~=ET713 021+4311+52192416

B e o 0 A 7 i L L
E---ET15 U31944600342924456 :
Ew—=ET717 013+42519220»7047

- BB 718 oo 028506609522 96433 ~— -~ o oo ooooooooooooooooo
Emm-ET719 025+2C00-5000,0000 ' ' ‘

- EeemET720---- - #-72- 0509463124615 2444~ PATTEMPTING - ST -OR CO§~ - -—=——————=---=-—=-----=
Em-=ET721 023:4630+622+2427 OF MAGNITUDE <100t

___.E.,.._E_"“ZZ,MM“m.-...__.-_._‘ mamn {}07 . 062 0 " 62 2’24 16 e e et m s 4 o me o O, — N—
Em=—tT723 023+,05109364151446

o EemeETR24 031901619141 9300L6 - oo oooosoeooeiioosiooooioioo oo

. E=—=ET725 022502105562 32431 o

o EeE726- - L s e
E-—=ET727 U4350011+40350033

——Em=ET728 025y20005000,0000 o
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TFEI2E0TO o 020°% 0010 =" 70" COMPARE ™™~~~ 777 77T T oo osmmo oo
FOl2£080C 2 mee e e

ToFOL2EC9G - %3020 H 227050 QT 3 T T T T T T T T T T oo
FO12E100 # 4 020Q 7002 % 1

—F 0 1.2 E 1 1 6 ,%_,____ 9&.-0 10_‘-’““* o e i e RV HRp— - n
FO12E120 * 91 071 4 001 % 4 FOR MAX



““F(H?EIBU """""" ?5‘“92 U710 &~ ODT—% __________ ) B 4 O

GOOOEQVO+ G 0010 % O SET (TEMPORARY) (NO ARRAYS YET)

- GOOOEQ10- -~~~ """""020°"% 0010 =39~ VERTFY SPACE AND ADVANCE ~~~ """~~~ ~---""---—-=-~
GOOO0ED20 052 % 2 124 K 34 '

——GCOCEQ3G—— =028 K 34700 E 6 7 ERRORIF "NOT LETTER
GOOOEQ4D 020 % 0 010 = 2 ADVANCE TO NONSPACE

~--GOOOEQRSC----- - R . RS b R A
GDOOED60 602 # 1 010 £ 6 ERROR IF NOT 1=t

ToGOO0EOTO - -1- 0209 0010 s 2 ADVANCE TO NONSPACE ~~ """~~~ """ ~-=-=--==-———mmmm—
GUGOEDSO 020 $ 0 010 = 21 EVALUATE EXPRESSION

—GGOLED9D G0"P 11247 K19
GOOOEL00 025 K 19 001 £ 6 ERROR IF NOT AT TERMINAL

----GPOOEYIO--------- R s R N B B s By St
GOOOE120 # 2 08B0 w==— D10 § 1 SET VALUE

- GeOOEY3O - U20-5-6-010 =13 - PORP Q3 —~ """ TTTTTmTTTmosoooomooooooooooooooo
GOO0E140 010 X 5 ?

—GQOTEO00+ G-I 0T0T s 0 O ({TEMPORARY)
GOO1EQOQS 020 Q@ 9 002 % 3

T GOOTESOE T V20 Q3 002 E 10~~~ ERRORIF GIVEN DIRECTLY AND TASK OPEN" 7
GCO1E01D # 3 020% 0 010 = 39 VERIFY SPACE AND ADVANCE TO NOMSPACE

T GOOTEQ2U T V20 % 0 010 = 27 " "TACCUMULATE WORD ~~ "~~~ """~~~ """ "TToToTooToooooo
GOO1E030 025 W 705 T ©

T GUOTEO%0 023" T~0"001 " E~ "6 MALFORMED IF "NOT VPART' ——
GCO1EN50 020 5 0 010 = 39 VERIFY SAPCE AND ADVANCE

TTGOOIECEUT T V20 3 0 0y & 2T """ EVALUATE PART NUMBER ~~ "~~~ """~~~ """~~~ ====="~—
GOC1ECTO 020 $ O 010 = 44 VAL IDATE PART NUMBER

T-GOOTEC8G - V20 P I 126 RIS~~~ VERTFY TERMINAL -~~~ ~ "~~~ "~~~ ~""""TToomomoToo
GOO1EQ9C 025 K 19 001 E & '
GOUTEYGO 020-Q™ 37050 P 20 SETCONTEXT -
GOO1E1}10 0203 0 010 = 13 POP Q3

ToGOUTEYZO o V2075~ 0-010 = 50" """"" FIND PART ~~ "~~~ """ """ "-mmomoommomoooooooooooeoo
GUU1E130 001 E 17 052 # 1 ERROR IF CAN'T

TTGOOTEYRG T B i B ¢ 3 i e
GUC1E150 # 1 020 =——- 050 P 18 SET P16 FOR FIRST STEP
GTOYIETSET 0207830 0107ET18 DESCEND
GOO1E170 # 2 020 ~=—= 050 Q 9 SET Q9 TO FIRST STEP

TTTTGUUTEIBY T T o TVIO"X "6 """ P JUMP TO FETCH ~~~~ "~~~ "~ TTTTTTTTTToTo oo
GOO2ECOO+ G 201035 O TO

TTeGUOZEQIO T V20" Q"9 O0L E 10 " TERRGRIF DIRECT ~~~ """ TTTTToooTooooomooooooooos
GOO2E020 020 3 O 010 = 3% VERIFY SPACE AND ADVANCE

—GO02E030 020780010 =27 TR ICK T UP T WORD |
GUO2E040 025 W 9 050 T O ‘

------ GOZEOS 0 - 023" T 000 % T T dUMP TR NOT NS TEP Y T e
GOOZE060 C20 5 0 010 = 39 VERIFY SPACE AND ADVANCE

- GUOZESTO - V205 -0 010" = 21 "EVALUATE EXPRESSION ~— -~~~ ~-=--=--------------
GOQ2E0B0 020 5 0 010 = 45 VALIDATE

—GCO2E085 020~ P—1124 K19~ VERTEY TERMINAL
GOO2ECS6 025 K 19 001 E 6 ,

-G OOZEC9O - 020" Q3050 P 2Y """ SET CONTEXT = -~ --- - mmmomsmo e
GOO2ELOD 020 $ 0 010 = 13 POP 03

Co-GOORELIC - W20~ 0 010 = B~ FIND STEP —~~-~~--—-—---mmmoomooooooooooo—oooooooe
G002E120 001 E 16 050 P 16 . ERROR IF CAN'T ELSE SET Pl6

—GO02ET2S G207P 210507 Q9 """SETQY9

GOOZ2E130 010 X 6 JUMP TO FETCH

-G O0REIH - Einints Sl 64§ Il T M a0 Tl 4 - Sk it Attt S it ity
GOO2E150 050 T 0023 T ¢

oGO0 ZEYS0 V02~ %2010 E 6~~~ ERROR " IF NOT #PART Y~~~ "~ " 7 --===mm==mmm——mmmoe
GOO2E170 #* 2 020 % 0 010 = 39 VERIFY SPACE AND ADVANCE

—-GOQ2E180 02070010 = 21 "EVALUATE "EXPRESSTON
GCO2E190 020 3 0 010 = 44 VAL IDATE



TTTB092E195 s 020" P=~1~126-K~T9 "~~~ "VERTFY~ TERMINAL -~~~ -~~~ -=====—-—--====== -

GCO2E196 025 K 19 001 £ 6

---GGO2E200------~----- 020-Q--3-050-P- 20—~ SET CONTEXT -~~~ - -7 - - mmmmmm oo mmmmmm e
GO02E210 020 5 © 010 = 13 pPor @3
GOO2E230 001 € 17 052 # 3 ERROR IF CAN'T

----GOO2E235- -~ 024-K-2-052 % - 4

GOO2E240 * 3 020 =---=- 050 P 16 ELSE SET P16 FOR FIRST STEP

----GOO2E245 -~ =020 =050 -Q 9 SET Q9o m o mm oo
GQO2E250C 010 X 6 ] JU?P To FETCH

- GOO3E010 020 s 0 010 = 38 SIMPLE~INDIRECT TEST

----GBO3E020---------o- - OLO-%--7-------—--- $----- JUMP -TO- ASCEND —-—------— -~

- GOD4EQQO+ G 40103 ¢ CANCEL

----GO04EQLD- - v 026-%--0-010-=-37------ SIMPLE-DIRECT-TESTS —————-------------------mo- -
GUO4ED20 020 @ 12 050 Q@ 8

—GO004ED30 G20-0--1-3-G380~-Q-—9 1 B A b 3 1 e e 1
GOO4E040 020 K 4 050 Q 12

-~--GOO4EQS0- -~ OB0- G 13- 010 -8
GOU4EDSEC 020 K 4 050 P 17 RESET STOP FLAG

----GOO4EGTD- - B20- @ --8- B0 G
GOO4E0D8O # 1 052 # 2 052 % 3

——GOO4EOIG——— P~ DR O e G O L H gy
GQO4ELCO 050 7 0004 T 0

=--GO4ELID - 0205 --0-010 -5 29—
GOO4EL120 ¥ 3 020 ==== 010 % 1

----GOOLEI30-—---- R L R e R T
GUOLEL40 020 3 0 010 = 28

—GO0LELE0 020—5—0-0-10~=—19
GCO4E160 620 @ 8 002 % 1

----GODLELTO-----~- #--5--020-6--0-810-5-55------ SWITEH-TO -YSER -~ -------ommoo oo
GO04E180 020 3 0 010 = 53 KICK QUT PROGRAM

- --GOOGEL PO e BEQ- K=Y mmmmmmmm e T T T TS
GOCSECCO+ G 50108 0O ERASE TEMPORARY

—GGHO5E810 020-5—0-010—="39————VERIFY—SPACE-ANDADVANCE
GOO5E020 124 K 34 025 K 34

----BROSENFY - S B e s L e i
GOO5E040 G20 P 1 052 #* 1 '

= -GOOBEL50- - - G20-%5--0-010-=-~ 2= ADVANCE-TO-NONSPACE ~~ -~ =-----—-==-=------mo o
GOG5E06C 124 K 19 025 K 19

—GGUSEQTO 0UY—E—6-020-K—5&
GOO5E080 # 1 050 =~== 010 X 5

---GO06ERRO+----G--60L0-F -0~ Y PE -
GO0GEQ1OQ ' 620 8 0 010 = 39 VERIFY SPACE AND ADVANCE TO NOMSPACE

---6H06E020- - - - G20~ P 2080 % 90—~ —m-m oo

~ GO06ED30 020 5 0 Q10 = 27 ACCUMULATE WORD

—GRO6EC4D 025-W-—0-050-T—0
GOUBED50 023 T 0 002 * 1 JUMP IF ALLY )

----GOO6EQED----------~ BUG-H - 00 -G - -
GOO6EDTO 020w 7065 T 0

----GEO6EBBD------------- 023-T---0-002 %5~~~ ~JUMP ~IF - #PART#-~——---------—-—--—-o—ooooe oo

., GUD6EC90 020w 9065 T O '

—GOO6ET00 023-T-—0~002~ %~ "LOTTTTTIUMPTIF TS TER ) )
GOO6E110 02ow 3065 T 0O

—--6OOGEL20- - 023-T--0-002-% 15~~~ -JUMP "I F- aFcana —————————————————————————————————————
GOOGEL30 020 W 13 065 T 0

- GO086E 4D - 023-T---0-002-%-20 ‘“-——JU,egP-—I-F—-l-S}ZE-t ———————————————————————————————————————
GOO6ELS0 020 P 1 124 A 66 .

—G806E160 025-A~66002~ %30~ —JUMP~IF -QUOTES"
GOOGE1L70 010 * 50 JUMP TO EVALUATION SECTION

e i S S P



RTS8 ¥ Tt e B

GOOGE190

-~ -GHOEE2B0 -

~ GOOBE210

— GO 0 6 E2 2 04.- e i ot et
GOO6E230

----GOOGER240 -~

0207$ 7707010 "= 39" """ VERTFY SPACE AND ADVARCE TO NUNSPACE ™~~~ ~"777
020 5 0 010 = 27 ACCUMULATE WORD

e R 1 )
C20 W 8065 T O

023 T - G 002 * - 35‘ - .,JUL‘QIP IF.’ pARTs'. o masd mna

020 W 10 065 T ©

023-T---0-002 % 35~~~ JUMP I F- 4 STEPSH - == -omo oo

GO06E250 020w 4 065 T O

- GRUGEZ260 023 T 0002 %40~ JUMP IR "FORMSY ~- - T o oo
GCO6E270 010 E 6 ELSE MALFORMED

——GO06E280——~"#-5-020"5~0 010 =39~~~ VERIFY SPACE-AND ADVANCE "
GOO06E290 020 8 O Q10 = 21 EVALUATE PART NUMBER

- --GODEEZHC - 0206 ~-0-010 = &~ VALTOATE PART NUMBER ==~~~ === == ===~
GOO6E310 020 % 0 D10 # 25 VERIFY TERMINAL

== -GOOEE R0 - 020 @ B 050 P R0 T
GO06E330 020 5 0 010 = 13 POP Q3

—GOO6ES40 020~50"010~="50 FIND~PART -
GCOO6E350 002 % 8 010 E 17 ERROR IF CAN'T

—-GOO6E360 - W8 020 H 23 050 P19 T oT oo ooooooooooooooosooooooooooooos
GOO6E3TO # 6 020 P 19 052 # 7

T GO06E380 - Ry Bt Rl 10 s S R TO ADVANCE WHEN DONE~~ """~~~ """~ -=====---=--==-
GCOBE390 050 P 19 056 P 3 ;

—G006E4C0 020—$—0~010~=—"7~—""UNPACK~TO"R
GO0D6E410 020 5 0 010 = 67 R T0 S

==-BOBEELS - 020-P~ 157002 "X~ 13-~~~ JUMP TR INTERRUPT -~ ~=---=-=------m----oooooee
GOO0BE420 020 5 € 010 = 25 TYPE

- -GOOGELFO - Q0= H ===~ e
GOO6EL40 # 10 020 3 0 010 = 39 VERIFY SPACE AND ADVANCE

—GGR6E450 020=5—0-010 =21 —EVALUATE~STEP™NUMBER
GOO6E46HD 020 8 0 010 = 45 VALIDATE STEP NUMBER

-G HO6E4 T 020-% -0~ 0T0 # 25 ~~~- VERTFY TERMINAL ===
GO0BE4LSO 020 ¢ 3 050 P 21

TTTTGOOBE4G0 T 02078 "0 GI0 =13 "7 o b
GOOBESQ0 020 3 0 010 = 51 FIND STEP
GO0BESTO 002- %1 T 010~ E~16—"ERROR—TF~CANIT et e ot o
GOU6ES20 # 11 020 H 26 056 P 3

TTTTGUOBES3IU T T TV20°s 0010w "7 873157: Vol duly 0 it

‘ GOOG6EB4LO : 020 3 0 010 = &7 R TO S

QO OGESSC 20" -0 0Y0 =25 """~ TYPE =~~~ 7T TTTTTTTToToTomoToommoooommmoomomooe e
GOOGESH0 010 X 5 TO ADVANCE ‘

——GCOGESTO #=15—020-$—0-010~=~39——VERIFY~SPACE-AND~ADVANCE i
GOOGES80 0208 0 010 = 21 EVALUATE FORM NUMBER

B L 020" 50" 00~ =46~~~ VALTDATE “FORM ‘NUMBER =~ --=--------------------—
GOO&ESOQ 020 5 0O 010 % 25 VERIFY TERMIMAL ‘

==-GOOEEEL0 -~ 0207 Q=37 080 P22~ e
GCOGEGZ0 620 3 0O 010 = 13 POP Q3

—GLO6E630 020~ 0-0 10" =—52"FIND~FORM -
GOOGE640 002 # 11 010 E 19 ERROR IF CANtT

~=-GROBEBS0 -~~~ 25 026~ K -2~ 052 ~#-29 -~~~ EOCAL ~SUBROUTINE - TO -VERTFY TERMINAL ~—~—-~~~ =
GOOBEGLSHO 020 P 1 124 K 19

~--GEOGEETG —~ -~~~ 025K 1 G- Q0L ~E G
GO06E680 ¥ 29 010 -

—GOOGETO0 #=20-020-50-010 =3 ELIMINATE SPACES
GUO6ETO2 020 $ 0 010 # 25 VERIFY TERMINAL

TG UUGETOG F20-----0-050"H 20~ COMPUTE SIZE 7 " -7 7T
GUOGETO6 020 % 22 056 # 21

----GOOGETOB - L Q20 ~smmmimm 77T T e
GOD6ET710 601 # 23 056 # 21

—-GOO6ET12 020~H-20~024~1~1 - —
GOOGET14 G50 H 20 014 # 21



=--GOOBET 16~~~ @- == R -

GOOGET18 * 23 020 5 0 050 P 12

=--GBOBET20----—------— R 1 L T
GOUGET22 “ L 4

——GQOOBET 24 —mrm e Q20 A 42 05C P11
GCOBE726 020 3 0 010 = 66

-~ -GOOBET728 -~ 020-8--0-0T0 5 25 - - oo
GO0QBET30 v 10 X 5

=--GO06ET750------#-30--020-5--0-050-P-12------SET QUTPUT-FOR -QUOTED-MESSAGE -~~~ -~~~ ~=-———--~
GUOBETS2 * 31 0205 O 010 = 1 ADVANCE
GCO6ETS56 025 A 66 002 # 32 JUMP IF QUOTES '

-—--GOOBET?SHB - %-33-020-%5 - -0-DF0 8- lpmmm e
GOOBET60 010 # 31 '

----GOL6ETH2--——-- #-32-020-P---2-050-%-90------ SAVE PP
GOOGET64 020 3 € 010 = 2 ADVANCE TO NON=~SPACE

—-GO06ET66 ¢20-#-90-050~P—2———RESTORE~P2
GOO6ET68 020 P 1 124 K 19

r=--BOOBETTO - O25-K--19-002 - %-34------ JUMP--FF-END - - -
GUOQBETT2 020 A 66 050 P 1

—--GROGET T4~ L R R R s
GOCBETTS ¥ 34 020 A 42 050 P 11 FIMISH LINE
GOOG6ET-78 020-5—0-010—=-66
GQOBET80 020 5 0 010 = 25 TRANSMIT

—--GoO6ETBZ2- - B R e e
GGOBELBQD # 35 026 %5 0 010 = 3 ELIMINATE SPACES

----0CO6EBOZ- -~ L O S b
GQOB6ERG4 02 & 1 010 E 6 ERROR IF NOT END

—GOO6ESCS 020-Q—10-050—-P—18
GoosE8LE # 36 020 A 42 050 & 1 TYPE PARTS

-—-GOLHEBIO- - 020-%--0-010-=25---—-—————- e
GCO6EBL2 020 P 18 056 # 37

----GOO6EBI4—---- ani & AL T B2 s =
GOO0sEB16 001 X 5 G650 P 18

—GOO6ESLE 950-pP-19-010-3—1 ) B
GOOBEB20 # .38 020 P 19 052 * 39 TYPE STEPS WITHIN PART

----GBO6E822--—--- B B 13 T it
GO0BES24 050 P 19 056 P 3

= GROEB26 - 0205 0 O e
GO06EB28 020 3 0 010 = 67
GGO6E829 020-P~15-002-X—13————JUMP—FF-INTERRUYP T~ s e -
GOOGEB30 26 3 0 010 = 25

----GOOEEB3Z oo O = BB oo
GOOGEB50 # 40 023 Q 11 002 % 45 TYPE ALL FORMS

---6P06EBSE - 020-Q T1-060-P-29 -
GOOGEBS4 G20 A 42 050 5 1

—GOHO6ESSE 620-5---0-910~=25~—LINE~FEED
GOO6EBSS * 41 020 P 19 082 # 42

---GO06EB60-----—--—--- T e R L i L L L TR
GDO6EB62 ® 42 020 === 001 ¥ 45

---GEOBEBEY - -~ DA P-19-056 P 3 —-m-mm
GOOG6EBSLE Q20 5 0 050 P 12

—GCO6EBEB 020-3-—0-010=—64 -
GUCeEBTC * 46 * 456

S R e e e o1t R ¢ R e
GOOGEBT4 124 K 13 050 T 1

----Geo6EST6----------- U20-T---0- 124 K- T -
GOOGEBTS8 070 10 050 17 2

—GLO6EBBEG 620-J-14-025-T2 -
GOGaE8B2 052 # 44 010 1



---GEOGESSH

““““““““ v“m“tze"—"”0“OG““WL“_T"—'_“_“__—““—“____”_____“““Tff’*‘___;__'________~f"“__“;;

GO06EB8S * 44 044 w=——= OG0 H 20

- -000Q6EBBB- - - - 020 -F - 0-0 10 B o T e e

~ GOo06ES90 1 9

Mmﬂﬁgoéaggzmmmﬂw.wwwnaze‘A BO‘GSO'P'II“ et vt s et s e 45 1 4

- GOO6EB94 020 3 O 010 = 66 : v

----GCOGEBYG - U20-A-42-0B0-P-1t------emmmmomm e
GO06EB98 020 3 0 010 = 66 g

~---GOD6EBYY-----------— 020-P-15-002-X-13------JUMP -IF- INTERRUPT--------------------ooommoom oo
GOOGESLD 0z0 & 0 010 = 25

___6 006E.g{}2...‘....‘“_.__....“._.._.M...u_.., 02 OM 34:} o 10 S ,.?A et AR 250 o B s ket d et
GROGE904 020 5 O €10 = 67

—---GO06ESHE -~ 020-5--0-010 =2 25— - -
GOOGEQUSB 010 # 41 :

~--GROBREQIQ-----— F-b5-020-A G62-050 8- -F -
GO06ES1I2 020 %5 0 010 = 25 LINE FEED

—GOO6EY 4 1 e S
GUOU6GED16 # 46 05350461922292016 tFORMY

---GaO6EQ1E - TG0+ 0000»000s 0000~ -~ oo

. GO0sGOG0 # 50 020 % 90 050 P 2 TYPE VALUES

B 1914 12 1C15 B 0 aitidehattl . 3 ikl 3 Sl ¢ 3 1§ Jnl:- Sl Mttt it
GG06G020 * 51 Q20 ~——=- 050 P 1 RESTORE PlsP2

—GO066020 —H52-020F 0010 =2y EVALAUTETEXP

. GO0sGC4D 020 P 1 124 A 59

88066050 - 025 -A59- 00 % 53~~~ JUMP TF NOT COMMA™—~ ="~~~ """""-""-"----Toooooes
GO06GEE0 020 %3 0 010 = 14

- GOOEGOTO 20~ P " 1-050-Q 5 "~ PUSH COMMA INTU OPERATOR STACK "~~~
G006G08O 20 & 0 010 = 1 ADVANCE

——GO06GEH90 0Yo—w—52 i-cop
GO06GLGC * 53 020 P 1 124 K 19

T GOOEEII0 o V25K T9 Q0T B~ -6~~~ JOMP T IF NOT " TERMINAL ~~ """ 77" 77"~ 7 7777
GOR65G120 ®# 54 020 % 0 010 = 13 POP Q3 TILL CLEAN

TTTGO06GI3YT T T T R e - ¢ b L
GO066140 020 @ 4 001 #* 56
GUUBGTS0 ¥FFT0Z20T5 0T0T0TeT IS POPTOY TTLL CLEAN
GOU6G1A0 020 Q@ & 002 % 55

TTTTGOUBGITY T D i e B & 2 & S
GO06G180 052 # 57 010 % 1 ,

86066190 - i 3 R A s ol $ 204 Al * et i RESTORE PIspPg ~~~ "~ " - - = - - == -oooooooommo oo
GL06G200 * 58 020 P 15 002 X 13 JUMP IF INTERRUPT

—G008GZ10 oS50 050 P 12
GG06G220 G20 3 0 010 = 21 EVALUATE EXPRESSION

T GUUEG230 G050 U1 0 =1y - [#327:% o ittt e
GO06G240 020 5 0 010 = 13 POP Q3

8006625 1 5 e ¥ B et o - F e

- G006G26D 020 % 90 050 P 2

—G0066G270 D52 #8900 1
GOU6G280 # 59 Q20 ~=—== 050 P 1 RESTORE Pl.P2

=--GR066290- -~ H#-68-020-%--0-910 =4~~~ -COPY CHARACTER "TO QUTPUT ~~ =~~~ ~--——==-————-
GO06G330 020 0 010 = 1

—--G8066310- - OG- P2 025 P B e
G006G320 G001 # 60 010 3 1 REPEAT UNTIL EXPRESSION 15 COPIED

—G0066G330 Q20-P-12-025 %Gy "

- GR06G340 001 * 61 010 % 1 JUMP IF ROCM FOR VALUE ON SAME LINE

64066350~ 020" A 62080 P Il "" 7"
GON6G360 Q20 5 0 Q10 = 66

---GROGGITE - V20 &0 QY0 = 25 -~~~ -mT oo
GCLBG38O 920 5 0 050 P 12

—60066390————#-§1-020~50~010~=-62~

GOOBG40GD

~~INSERT ~SPACE
020 A 43 050 P 11



----GOO6GAHI0 - e 020-5 -0~ 010 -5 66—~~~ T ol o e e i b

{

GO06G42D 020 8 0O Gl0 = 62 INSERT SPACE

----G006G430------ R 023-P-6-001 % 62 -~ ~JUMP - IF NOT-ZERQ ——~-"---- - m=mmmmmm oo
G306G440 020 3 0 010 = 62 INSERT bPACE :
G006G460 020 3 0 010 = 66 INSERT ZERO

- -GOOEGLTO - —-- S B0~ # §6 ~~——= ==~ == o m e
GO06G480 ® 62 021 P 5 001 % 63 v

---GOO6GAID- - - -~ 020-A60- 014 -#--65----------mmmmm oo R ERnEEEE T R L PP TR e
GO06&G500 # 63 020 A 44 050 P 11

—G0066510 020-5--0-010-=- 66" --——INSERT-STGN

GOC66520 120 0 004 P 6

---GOB66530-—-—--- Obely-N---8-050 -H-2G --------- e e
G006G540 060 P 11 010 8 1 ‘

----60066550- - - 020-5--0-010-2-66------ INSERT-FIRST-DIGIT-—----—---- - oo
G00E6560 G20 A 27 050 P 11

—-GDO6GST0 020-5—0-010—=-66- INSERT-DECIMAL—POINT
G006G580 020 3 0 010 = 36

- --G06GEGO- - e B
G006G600 023 P 4 002 # 66 JUMP IF SFX = 0

---60066616------- B20-§ -0 B0 -3 B ——mmmmmmmmm
G0066620 #* 92 % 92 |

—G0066G630 020—P—4~001—#—64
GO06E640 . 020 A 60 014 * 64

----G60066H50-—- - Bl 020~ A b= OB 0 Pk —m oo
GO06G660 020 5 0 010 = 66 INSERT SIGN OF SFX

--=-GLU6GETO- - 026 - P =006 B o

- G006G680 * 65 021 P 4 072 31

—GO0066690 050--H~20~-010-%—1 S
G0066700 020 8 0 010 = 36 INSERT SFX DIGITS

-=-BOBEGFI Do Fommm oo B
G006G720 020 Al12 050 P 11

--7-GUD66F30-—---—- 020-%---0-010-2-66------FNSERF- REGHT - PAREN - -~ -—--- === -mmm oo
GOO6GT40 # 66 020 A 42 050 P 11

—G006GT50 G20-5—0-010-=-66————INSERT-CR+EOM
GC06G760 020 8 0 010 = 25 TRANSMIT A

----80066770- v 020-P--1- 324 ~K-B9 = m == oo
GO06GT780 025 K 19 0062 X 5 JUMP IF AT TERMINAL

50066790 - 020-$---0-010-=--2------ ADVANEE- TO-NONSPACE ~-—-—--------=--om-omomo oo
GLOBGBOD 020 P 2 050 * 90

—GO06G8L0 G10—-#-~58
GCO6GB20 % 90

----GELEGEZD- -~~~ B e L . L I TR LT
GC06GB40 # 92 02050011»407»6111 telO%(

---GR066850- —----—------ OO0 0000900890000 - -
GOOTEQOQ+ G 70l0s 0 RETURN

—GG07£010 026~§—0-010- 538~ STMPLE~INDIRECT~TESTS | S
GOOTE020 020 A 42 050 5 1 SET UP CR+EOM

—--GGOTEDIO- - ---- 026-%--0-010-=25------ L e -
GOO7E040 010 x 5 ’
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XC03E120 024 U 4 052 $ 1

~-XOQ3EY30 ___________ Q20 mwemm 024 J G .
X003E140 025 H 1005 X 9 TO X9 IF PUNCHING 1S5 OVERDUE

—X003E150 010—%——5
X003E160 ¥ 4 020 L 19 001 #* 5 TO #5 IF NO STN WTG TO PUNCH

---X003E170 020-L--18-00% -X--9--———- TO- X9 -1F--NO-STN-READING{-INF TIALF ZE -PUNCH - --
XCO3E180 ® 5020 L 12 001 * & TO #6 IF NO STN WTG FOR NORMAL PROCESSIN

---X003E190- . D24-U--b-082 -8 b oo .
X003E200 020 ~=—= 024 J 7 : o

—X003E210 025-Hr 1001w 40w T Qo % 40 - L Fm SN~ OVERDUE~F OR—~PROCES S I NG—- e

X003E220 * 6 020 L 11 001 * 7 TO #7 1F NO STN WTG FOR BUFFER



----TO- %50 TF- BUFFER “AVATLAGLE ~~ "~~~ "" """ ="77o-

---X603E230------------ 020 -H-10 -002 #- 50 -
X003E240 *# 7 020 L 12 002 * 40 TC #40 IF S5TN WTG FOR PROCESSING

----K003E250------ -~~~ 020-L-1B-006X--8------TO- X8 IF-STN-READING ~~~-----------—---r--mm o
XG03E260 020 L 20 006 X 9 TO X9 IF STN PUNCHING

———XGO3E270 w010 X L "NOTHING TO 'DOsGO BACK TO Q SERVICE
X003E280 * 20 10% 0011 5 0 LOOP TILL Tl TURNED OFF

----XQ03E5C0------ #-40-020-L-12-050-H-12------ SET- STN- CONTEXT ~---=------mmmmmmmm oo
X0C3E510 020 ¢ 0 010 = 47 CHANGE STATE TO L13

----R003E520---—------- - E-13------ -1 e
XO03ES30 020 3 0 010 = 5a BRING IN PROGRAM

——RGO3E540mmimrimiirae o 3205 - 00108 4G - o UPDATE-STN-ACT IV R

- XCO3EBS0 050 H 8 Q10 X 4 SET START TIME AND FIRE

----XCQO3E560------- #-50-020-L-11-050-H-12 - -~ -SET--5TN- CONTEX T~~~ --=-=---mommmmm oo
XCO3E570 020 8 0 010 = 47 CHANGE STATE TO L13

=~ XO03ES80- - L-133--———- I T T T L LT TR ———
XCO03ES90 020 & 0 010 = 54 BRING IN PROGRAM ‘

——X003E60 Q 02050010~ 8§ JPDAT E=S T N-ACTIVITY s 1 e m o e
XGO3E610 050 H 8 014 = 25, SET START TIME AND REENTER =225

----XO04EQGOH - - X --4-030-5-0------------mm - PIRE————-— =
XQ04E010 020 P 10 001 * 3 JUMP IF UNCONDITIONAL

- XGOLGEQZO- - VBG-P---2-B10 -8 -
XCO4E030 - 020 A 14 050 P 1

—XOO4GEQ40 020—5—0~-010—=—23 EVALUATE-CONDTTION—
XCO4EQ50 ez # 1 010 X 5 JUMP TO ADVANCE IF DOESN!T HOLD

----ACR4ECEE------ H--1-020-J-12-050-P--2 - FINDVERB —------------oooooooeeee e
ROO4EQTO # 2 020P 2024 K 3

----XB04ERBE- - Bt R o O et
XCO4EQ90 % 3 020 -——— 001 E 6

—X0U4ELC0- U50—P——1124—K—34
X004E110 025 K 34 001 = 2

- k9O4ETRO- - 020-$--0-0Y0 =27~~~ ENTERPRET "VERB ~~ -~ -7- - ---m-mmmmmoooo oo
XC04E130 020 # 50 052 * 11

---XOC4ETA0----- A B S R e 7 ¥ e it i ity
X004E150 025 H 19 G01 % 12

—XUO4ET60 U25—R—"1-001 %13
XUQ4ELT0 # 12 020 * 11 024 K 2

S XQOGEL GO -- - e o A e 1 et i
XQ04E190 # 13 020 # 11 025 % 50

-—--REGOGERGT-------- - U243 5 1- 052 # ~ g -
X004E210 ¥ 9 010 =—m—- GO TO GXXX

—X804E220 #—50 #-80 -
X004E230 ¥ 51 G o

—--ROOLER 4O —--—- W -60--000+00009063905 24—~ -GET —-——----- oo omeeeeo oo

- X004E250 000,0000+000+4417 Do

==X DO4EZ60- - C0O90000+000+641T------ Lo

. X0O4E270 000s0004241751605 DONE

——X004E280 G04+301-1960390514 - CANCEL e P

- XDO04E290 UC0+0452+201 92305 ERASE

-——-XGO4E3Z00- - 000+0006343%920058------ Y PR - mmm oo
XK0O04E310 _ 006+2052+42542216 RETURN :

-—--X004E320- - CO0 4000630090705 ---—-- PAGE — =~
X004E330 0C0+0006+920550104 READ

—X004E340 GO0 06029516 90310 ———PUNCH N
RO04E350 C00»0004+61792215 FORM

--KODLEBE0- - 060+0006932451720 -~~~ GTOP ===
XQ04E370 000,0000s000s4717 GO '

----XGO4E380---------- 004340519405 52405 -~ DELETE -~ - oo
XGO4E390 10090000&000500009

SRR 8410157 079 1o 1 VNI SO JU¥ 5 1 'y WA SUUE 5 SO ORI - ADVANCE~ et

X00S5EQ10 020 P 16 002 * 1

TG #1 IF Pl& STILL GOOD



----X0O0BEQZ2D . __ U200 - Q-0 R B e e e

XCO5E030 050 P 21 210 $ 1

---XQO05EQ40- . 020-5---0-010-2-5------FIND -CURRENT - STEP--------—-=--—mmmmmmmmm e

- XOOBE050) 002 13010 3 1 TO *1 IF FOUND

——X005E060 - rm o B20-H-23- BOL K - T~ TO X7~ fASCEND ) - I F- DONE o -
X005E076 020 H 26 001 X 7 TO X7 (ASCEND) IF DONEs

-~ X00BEQ80.___________020°H 25.010 -%--1 - GIMMICK-TO GET MEXT -~ -~ mmmmmmmmmommmemem
X005E090 # 1 052 # 2 010 $ 1

.- XDOSEG95 ____ 026 Koo 2-0852 % oo __________
XCO5E096 * 6 020 ==== 050 Q 9 SET Q9

— XOOSEIC0 #2020 ==m== 00]. 3.4
XCO5E110 # 3 050 P 16 010 X & SET P16 FOR NEXT STEP AND GO 70 X6(FETCH

--R005£120 % __4 050 P 16010 -X_-7--_ - SET-PLE~AND-GO TO X7 (ASCEND}
X005E130 # 50208 0 010 = 55 SWITCH TO USER--TASK COMPLETE _

- XCOSE140 ___________020.5 _0.010 =83 ______ KICK QUT-PROGRAM -
X005E150 016 x 1 ’ GO BACK TO @ SERVICE.

e BOOEEOO0+ X 6.010u8 O e FET CH s e e e
X006E0US 020 P 15 002 X 13 JuMP IF INTERRUPT

- XODEEGIO 020 P16 0856 P _ 3

XO06E020 020 3 0 C10 = 7 UNPACK

- X008EQ30_ ___________ 02050010 5__ 0 ______ READ CLOCK — - - oo
AOOBEQ4C 025 H B8 025 J &
X006E050 Q02_#..2.120 0 JUMP-~I F-SHOT--T.IME~15-UP
XGO6EQ60 #1145 K 41 001 X & JUMP UNLESS MINOR CYCLE MSG

- XOO6ECTO 050 H -9 124 K_ 35
X006E080 025 K 35 001 % 2 JUMP IF NOT TO¢

- XQUBEQ9G_ ___________ 020 5. _0. 010 = 48 ______ TREAT -4TOL BY- SUBROUTINE- - - - mmmmmmmemee oo
XO06ECSS5 020 L 13 050 H 12 RESTORE H12 CONTEXT
X006FE100 120 C_010-%_.1 S
X006EL10 ¥ 2 020 L 13 050 H 12 CUT OFF THIS SHOT

_W"KQQQﬁLZQm"____m"__Dzﬂ_sm"ﬁ_OLQMQ_Al. _____ CHANGE - STATE T Ll oo

XG06E130 L2 L o12

- RCOBE140____________ 620 .5 _0 010 =_83 ______ KK QU T o o
X00B8E180 010 X 1 ) JUMP TO Q SERVICE

—X007ECQO+ X 7010_5__0 ASCEND (TEMPORARY-) , B

~ X007E010 020 K 4 050 P 16 RESET P16 FLAG

----AQOJEQ20 ___________ 024-5--0-010-=-19 - ROP--Q8~9- CONTROL -STACK ———————————————mmmmmmmmm .
X00TEQ30 G20 @ 8 002 * 1 TO #1 IF TASK NOT FINISHED

-—-X00FEQ4O 020-5---0-010-3-55- - SHITCH-TO USER ——~ oo mmmo ,
X007E050 020 5 0 010 = 53 KICK CUT PROGRAM
XQQTEQGQ 010Xl T0O--X1~FOR~-QUEUE—SERVICE
X007EQT70 # 1 010 X 5 s TO X5 ADVANCE (TEMPORARY TO GET GOING)

- XOLOEQQO% ____ X _10-030_-% Qo ______ RROCESS-INRYT-—mmm oo

| XOlOEO40 023 P 13 002 * 10 JUMP IF WTG FOR INSTRUCTION

-~ X010EQ50 . _____ 026_1---1-002-%-30-____ ~JUMP-IF - WTG - FOR -FORM - == - mmmemm oo
XO10EQ60 010 # 40 ELSE JUMP WTG FOR INITIALS

— XOI0EQT0 1 0-020-Ru]-001—#u B0 JUMP— ] P L TN E— WA S~ EMBTY -

'~ XGlOE080 020 P 1 124 Al24 '

- XDLOEQ9D ___________ 025 _Al24-002 - #%-50 - JUMP- - LF-LINE-ENDS-WITH- 4% ____________.
X010E100 020 R 1 124 Al24

~--X010E110 G25-A124-002 %50 - —JUMP~}F—L&NE-8EG}N5~HI?H~+h% ---------------------

- X0l0E120 D20 R 1 124 K 34

——XCQ1l0E130 025—K—34--002—%-- 11_~mmmdump ~IF—LINE-BEGINS-WITH-LETTER

- XU10E140 620 R 1 124 X 35 :

---X010E1S0 . 025-K-35- 002—%—43----~JUMn-1P LINE-BEGINS WITH DIGIT--------oomom
X010E160 0l0 E 6 ELSE MALFORMED STEP

~--XOQlO0EL170 - ___3# 11-020.-P-10-002 -E- 1§~——~nERROR IF CG“DIT}GNA& -------------------------------
XG1l0E180 OZG P 1124 A 27

—X010E5190 25.A-27--001-#..19

X0log260 020 P2 056 % 12 REPLACC FINAL 9FRIGD



== KOLOE205 -~ % 12020 -AL09 050 ==mm

X010E220 # 19 010 X 4 FIRE

----X010E230------% 13-020-P---2-052 %14 - SET- LAST- CHARACTER-ADDRESSES ——-----~-———-———--

~ XQ10E240 ' 056 % 15 010 & 1

PR XGLOEZ2B50 - - 020-J 12 DBO P -2 - ooom o b e 8 R i 88 bt s s s e e

- X0lOE260 02005 0 010 = 1

~--XC1OE270- - - 020-5--0-010--=-20------- EVALUATE- STEP- NUMBER ~~---------—- == mm oo
X010E280 020 3 0 010 = 45 VALIDATE

----XOLlDE285--———-------020-P---1-00L-$--2------ SKIP--FF- NOW-AT--TERMINAL- MINUS - ---——-—-=---~

- XCloE290 020 3 0 010 = 39 VERIFY SPACE

—X010E300 020-Q-~-3-050~P~21~-——SET-STEP~NUMBER—IN-CONTEXT
X010E305 620 5 0 010 = 13 POP a3

----K01CEB10------ b Ll D20 e = Bl A R oo e o -
XOlOE315 G25 A 27 001 * 16 JUMP IF LAST CHARACTER NOT PERIOD

---KCLOE320------#-15-026-A130-050 ~—~——------ REPLAGE- FINAL- PERIOD -BY- PSEUDO=PERTOD ——~~~~—
X010E325 # 16 020 P 10 001 * 17 JUMP IF NO CONDITION

—XG1OE330~ 025—1-—3~0 5651
X010E340 120 0 050 m——m REPLACE SP BEFORE ¢1Ft BY ZERO

---XOIOEB60------ % -17-020-5-0-010 =" 5L~ FIND STEP IF CAN -~~~ =~~~ -=---=-===-------—ooo o

~ X01lO0E360 0061 # 18 010 5 1 JUMP IF CAN'T

----X%010E370------------ 020-5-0-010-=56------ ERASE DUPLTCATE "~~~ -—-—--—-------oooooooooooo
X010E380 020 & 0 010 = 51 FIND PLACE AGAIN

—XGL0E390 —18-020-5—0-010—=¢ PACK—STRING
KC10E400 020 H 23 002 % 20 JUMP IF PART EXISTS

== K*OL0EL10-- - - U26-5--0-010-=-68-----COMPUTE-PART (P20) FOR STEP (PZI} "~~~ "~~~
X010E420 020 H 21 056 * 21 SET Up PART ID IN Q10 STRUCTURE

---XGLOEL3H- - €20-35-0-010 = 10— --ommooooro oo o
X010E440 ® 21 056 % 22 056 =—==-

—X0LCE450 024~K——1"056=%#—23
X010E460 # 22 020 H 22 056 =——-

----XO10E4TO------ B O G e R e
XO1O0E480 020 # 22 124 K 5

R E A2 5 it 410 5 Ml U6 T4 i it et
XO1OEBU0 120 0 050 H 25

TXOTQES YO # 20020 HT 247082 TR 24 TS ET T URTSTEPTINTQ YOS TRUCTURE
X010E520 020 $ G 010 = 10 :

----XOIOE53E------------ B e R
X0Q10E540 * 24 052 =——= 024 K 2

== KOLOES SO - R i B
X010ES560 ® 25 050 ~--= 020 H 25

—X6LOE570 124-K-—6-024P—3
X010E580 # 26 050 ~=—= 010 # 50

- -KEIGES 90 #-30-120----- 0-850-P~13------CLEAR WTG FOR FORMY ~STGNAL ~~~~~~~"~~~"-—----~
X01l0E6QO G20 3 0 010 = 52 FIND FORM IF CAN A/C P22

-=--XGLOESLO-—-~-—-- - GOE-#-31-010-5--F---——-JUMP - FF--CANTT —-- -
X010E620 020 $ © 010 = 57 ERASE DUPLICATE :

—X-GLOE630 0205 03-030~s~5Rr e I ND P L ACE ARG AT N oo s am st o e e s

- XClOE640 # 31 020 8 O 010 = & PACK STRING

----XQLOE6S0- - - D20-H-26-082 - B oo

- X010E660 620 8 0 010 = 10

o= -XOLOE6TO- - oo e B L - T e s

' XQ1l0E680 # 32 052 === 024 K 2

-—)@{}-1‘3@690 552__*-3 3~ Qza_p_.zz s i om0
XGLO0ET700 * 33 050 ==== 020 H 25

- XOLOETFLO oo F24 - Ko~ 024 =P 3 ==

X01CET20 % 34 050 ===~ 010 # 50
-~ %GIOET4O- -~ 40020 -R---k-O 0L -H- 45 - - - -~ JUMP--TF - NO -CHARACTERS
~ XGLOET50 020 R 5 002 * 45 JUMP IF 5 OR MORE CHARACTERS
—XOLOET60 020-K—~15-050-Q—1~-——-PRIME~Q1
 XOlOE770 # 41 020 P 1 124 K 34



---XGlOE780- U25 -K-34-00L -%-45------ JUMP--FF - NOT-LETTER -~~~ - - s
X010E790 C20 P 1004 Q 1

- XOYIO0EBOOQ-- oo 075 - 32 -0B0 Q- 1 - ==~ === m e
XU10E810 020 P 2025 K 3
RC10EB830 # 42 020 w=== 050 P 1 -

-~ XO01l0E840 ___________ 006-#- 41 -010-5--1 - - GO-BACK-IF MORE -~ oo oo
X010E850 120 0 050 P 13 CLEAR tWTG FOR INITIALS' SIGNAL

- X0l0E860 . ____ 020-5-0-010-=-22 -~ TYPE TIME LINE -AT-TOP-OF PAGE -------—--mmmmmm

- XOlOE870 010 * 50

——XClOEBBO .. 45 020.5...0..010. .65 - ERROR 8-~ TYPE-# AGA TN Vo e s oo eeem e e e e e
XO10E890 # 46 ¥ 46

- XG1OEQQO. ___________ 010 % 50 _

- XC1lO0E910 # 46 050542702621 94445 VAGAINS?

- XQIOES20 __________ 01594524900050000 -
X010E930 % 50 0208 0 010 = 55 SWITCH TO USER

— XD10E935 0205 -0.-010-5..53 . KICK~ QU T--PROGRAM - -
X010E940 010 X 2 ’ BACK TD SIGNAL SERVICE

- ACI3EQQO+ X113 0108 0 ________________ INTERRUPT- TREATMENT- - - - oo
XC13EQ010 020Q@ 9 001 # 1

- XQ13E020 ___________ 020 S _ 0 060 P _ 30 .
XO13E030 020 $ 0 010 = 64

—X013E040 .90 .90 A s e
XO013E050 020 P 16 0B P 3 P16 OK HERE

.- AUL3EQ6O. 02050 010 =__F______ UNPACK: - o o o o oo e o

- X013E070 020 5 0 010 = 63 COPY STEP NUMBER FROM R TO Sa

---AC13EQ80 ___________ 02050010 =69 - INSERT-PERIOD- AND-END -OF- MGG~ -————————oomom oo
X013E090 Q20 5 0 010 = 25 SEND
XO013E100 Q10 4 2
X013E110 # 10205 0 010 = 65

- ROY3EN20 ________________ ¥.91 ______ £~ I .
XC13E130 * 2020 % 0 010 = 55 SWITCH TO USER

- XQl3F140 0205 _0.010 =83 ______ KICK OUT-PROGRAM - oo
X013E150 010 X 2 BACK TO SIGNAL SERVICE
XQ13E160 # 90 _054564519461.92451 LINTERRUPTED—AT—STERS
X013E170 024+46413516391625

—-X013E180 ___________. 0129016094230 416 -
X013E190 U031+06309522»3416

- X013E200- - 100000008000 20000 - - oo oo

~ X013E210 % 91 064+4251452223042 'REVOKED 8Y IN-~REGQUEST!?

—X013E220 0125424093419 1070 ,
XG13E230 007+1313512246051

-~ XQ13E240 __________ 012645019500 2862 — o _.
XC13E250 03154331+250,0000

mmZ==mEQO0% 2 -_0-L00-0000-000-0000 -~ USERIS —INITEALG — - - -mcmmm oo e
Z—==EGO1 Z 1 100 0000 000 000D LAST DECK NUMBER CALLED FOR

—=000EQ00+, ®—0-010-$--0 READ-CLOCK
=C0COEOQ10 024 K 2 052 * 9

—--BO000ECRD AO7 0008 R O llo_____.
=000EQ30 050 H 0065 T ¢© ' :

—-BODOEGLO Q02 @ 1024 % Q0 ..
=000E050 # 1 024 H 1050 H 1 ~

—=000E060 S O A L et EXTTSWITH-TIME—-IN~ACC—ALSO -
=Q00E070 #* 90+ 1 23»

----2001EQ00 - =1 010-$ -0 STEP -ONE--GHARAGTER -~~~

- =001E010 024 K 2 052 % 9

- mO0LEQ20 . D20 -Poe2o024 Koe B
=001E030 0527% 1 054 P 2

——=001E040 ] 02 Dm0 50 Pl e LEAVE S NE W~ CHARAGTER--IN~ACC
=GO1EQ50 # 9 010 —=—= ’



- =B028000- - = --2-024-K-- 2701050 -5 ADVANCE - TO NONSPACE 7 "~~~ """ " 777~ """
=002EQ10 052 # 9 010 * 1
----=003E080------=--3-036-5-- 0~ ELIMINATE SPACES-————------~---~—~-------—-------—
- =003E010 024 K 2 052 = 9§
—=003E020 e 02 5P - - 10 1O B
=(003EQ30 * 1020pP 2024 K 3
- =003E040 _________ 082 s 2 OB P
=(003E050 * 2 020 ~~-= 050 P 1
—--=CO03EQ60- - - -~ --3-124-A 36-025-A- Ll -----—----mmmmmmm oo T TR
=C03EQT70 002 % 1 020P 1
— #2003 E080 e G 0] Qe s o g aimoricnens | AVES~NONSPACE—IN-ACC
=004E0Q0+ = 40105 O PUT (P1}) IN NEXT S CELL (P12)+1 AND P11
—--RG04EQLIO- - U284 K- 2-052 - G o
- =004EC20 020 P 12 024 K 3 . :
----=2004E030- - 080 -P- 12058 H# -~ J o m - s
2004E040 G2op 10103 1
—=004E050 #mn}on 05 G~ P10 50
=2004E060 ¥ 9 010 we—- r
---=005E000+---- =--5-010-8--0------------ - CONVERTER ———-—— - mmmmmmmmmmm o
=005E010 024 K 2 Q52 # % ~
-—--2005E020------- #--1-020-A--42-050-R-73------ FILL-WITH CRHEOM+TERMINAL "FROM RIGHT ————~—~—
=005E030 020 % 1 010 * 3 :
—=005E040———%—-2-020-%—— 4510~ F—-1
- =005E050 % 3025 K 1056 % 4
----=005E060------ A= OB G - G2 O e
=005E070 024 J 13 056 * 5 ~
---=005E088------ R 1 R R B e
=005E090 025 A 14 001 % 10
—=005E100 ¥—6—020—A~42- 050 mewm
=005E110 010 %+ 2
----=005E120------ B e e s T e
=00BE130 * 11 G20 K 4 050 P 10 CLEAR VIF
----=005E46------ HF2-020-5 07010 %20 oo
=005E150 # 13 020 P 1 124 A 14 SPACE
—=005E160 025—A— Y4001 %12
=(Q05E170 020 3 0 010 * 20
-m-=COEEY80 - U20-P--1-1245-A25- - e
- =005E190 025 A 25 001 * 13 ' -
=R O5E200- -~ Q20 G 0- 010 - # 20 - """
=005E210 020 P 1 124 A 22 F ;
—=0056220 025-A~22-001—%-13 -
=005E230 020 5 0 010 # 20
- -=SO05ER240- - - - oo C20-P--1-124-A 14-————-SPACE-——----———-----oomoo oo
=005E250 025 A 14 001 * 12
---=005E260---——-—---—- 020-P---2-050-P-10------ RECORD- 41 ¢~ BY -LOCN -OF - FOLLOWING SPACE -~
=005E270 ¥ 14 020 5 0 010 % 20
—=005E280 020~-P-1-124-A~66
=005E290 025 A 66 001 #* 14
=005 E300- - B e R T it et et
=005E310 # 20 024 K 2 052 # 29 :
----=005E320- - —-----—--- B 20— P2 02 K~ m oo
=005E330 G50 P 2 056 % 21 :
—=005E340 #—21—056--#~23-0R0~ === ‘ .
'~ =005E350 024 J 13 056 % 22
----=HOBEZ60------- -2 2--0OF 2 h RO~ = = o .
- =005E370 # 23 050 P 1 Q50 ==w=
----=005£380------- #-29-010-mmm—— oo EXTT FROM ¥20-----------------=-—-----—----—- e
=005E390 * 24 020 P 2 025 K 3
——=2005E400 050-p-—2--052- %25 -
=005E410 # 25 020 =——= 050 P 1



----=005E420. H o9 01O e oo EXIT--WITH -LAST--CHAR -EN- CONTEXT -AND--ACC- -~ >

s006E000+ = 6§ 0103 O PACKER

—---=006ECG10. ... 024.K--2-052 % -9 - LEAVES-LINK-TO- STRING-IN-P3-AND ACCe -~~~ -
=006E020 120 - 0 050 P 3 SET P3.

——-B006E030 e L020.R -1 001 # 8 - TO %8 IF VACUOUS-
=006EQ040 020G 0056 P 3 SET P3.

o BO06EQ50. . 020 4. 12 0850 P2
=006ED60 020 % 0 010 = 1

- BO06EQTO % 1 020 .5 0 010 % 30
=006E080 056 * 3 024 K 1 '

e BOOGEQC e 086 F 2 0TD O e e e
=006E100 G20 3 O 010 # 20

o BO06EII0. __________020.%5._ G 010 %_20 o __________ S
=006E120 029 3 0 010 * 2¢

._-B006FE130 __________ ﬂzons___c_a_l.@._ﬁ_.zc._____________._u___________________ﬁ___g_____w_,_ﬁ____i____

, =006E140 060 T 0O 071 12

—=2006E150 : 050..T-. 3070 Qe OSSR — RO
=006E160 020 3 0O 010 % 20

. =006EYT0 ___________ 020 S _0_010 % 20 e
=Q06E180 020 3 0 010 * 20

__-=C06E190 ___________ 0203 _0Q.010 %_2G___ o ___

o =Q06EZ00 G20 3 0 010 = 20
=006E£210 C60_T._.0.010.%5 1

 =Q06E220 # 207 5 050 mewom

o =00BE230 020 P _ 1 001 ¥ __ 3
=006E240 620 Q 0056 T 1

__=006E25%0 _____# _ 3. 020 _T__1.0 e
=006E260 €20 P 1 002 » }
=006E270 ¥ 8 020.P 3 010.5_ 1
=G06E280 #* 9 010 w~—-

__=006E290 % 20 024 K 2 052 % 29 ________ S
=006E300 120 0 075 7

oBQO6E310 020 P X 126 K X
=006E320 064 T 0 004 T ©
=006E330 020 P _ 2 024 K .3 : .
=006E340 052 % 21 054 P 2

- EQO6E380 3. 21 020 mmme 050 P .
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=Q07E030 02C J 12 052 % 23

- ZB007FQ40 020 P __ 3 080 _T__0______ PICK UP_-SOQURCE- FROM PBg-cmmmmomommomo oo
=00T7TE050 * 1 023 T 0001 % 2 TO #2 IF MORE

- BUDTEQ6D ___________) 02Q_A 42010 % 21 SUPPLY-CR+EOM- AMD-EXLT-VIA-%2%e---coooommmm .
2007EQT0 # 2020 T 0010 5 1
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=016E000 = 1€ 004 % 96 010 # Q@ PUSH Q6-Q7 AUXILTIARY

- B017EQ00 = 17 _0Q4 % 96 010 _%_310______ POP- Q6=GT- AUXILIARY- - __
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=(20E040 - 050 P 6050 T 1
=020E050 020Kl 050 Toem O,
=020E060 , 020 % Q1 056 % -2

o B020FQ70 s Y 020 P 1 )24 KBS oo
=02CEQ80 025 K 35 001 # 7
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=021£120 *» 2020pP 1071 23

B 2 5o ity BEr-#*--8-0Fr----3---—-- FO#E - IF LEFT GROUPER -~~~ -----------------—-----
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=Q21E470 *# 15 020 8 O 010 = 14

. Z021E480 020 P _1 050 Q__5_____ STACK -CHARACTER -IN- OPERATORS
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c---B023E190 - - 020-5--0-010-5- 13-~ -POP- -OPERAND -~ -~ === - = —mmmmmmmmmmmm oo
=Q23E200 020 # 50 010 5 1

—=2023E210 e #9010 EXIT
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- =028E170 _____ 3B 020-P- - 0-028 - J - e e
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